
1.  ½ of 9 =  
 
 
 
 
 
 
 
 

 

2. 55 X 7 =  
 
 
 
 
 
 
 
 

 

3. 5555 ÷ 5 =  
 
 
 
 
 
 
 
 

 

4. 654 x 16 =  
 
 
 
 
 
 
 
 

 

5. 636,467 + 365,214 =  
 
 
 
 
 
 
 
 

 

6. 1/2 ÷ 3/7 =  
 
 
 
 
 
 
 
 

 



7. 25 – 26 =  
 
 
 
 
 
 
 
 

 

8. 23.6 +  12.98  
 
 
 
 
 
 
 
 

 

9. 456 in Roman numerals =  
 
 
 
 
 
 
 
 

 

10. What are the missing numbers? 
-18   -15     ?      -9    ?      -3 

 
 
 
 
 
 
 
 
 

 

11.  3/9 of 27 =  
 
 
 
 
 
 
 
 

 

12. 5/6 x 4/8 =  
 
 
 
 
 
 
 
 

 

 



13.  6 x 1/4=  
 
 
 
 
 
 
 
 

 

14. 76,000 + 2,600 =  
 
 
 
 
 
 
 
 

 

15.   567x 0  =  
 
 
 
 
 
 
 
 

 

16.  Round 567,432 to the nearest 10,000   
 
 
 
 
 
 
 
 

 

17. 45% of 600 =  
 
 
 
 
 
 
 
 

 

18. 3.13 X 4 =  
 
 
 
 
 
 
 
 

 



19 I have 5 vertices and 5 faces. What am I?  
 
 
 
 
 
 
 
 

 
 

20. How many 50p in £8.50? 
  

 
 
 
 
 
 
 
 
 

 

 


